312raT/OR

Ve fafeher &y ol &1 fGaaT &R

Explain main elements of Preksha Therapy.

. F9T iR geRUE W b ey forRau

Write an essay on Addiction Management.
312raT/OR

g geeue R Feey foaleau

Write an essay on Stress Management.

. Tt a‘r R feouft foRau- / Write short notes on any Two.

(i) T Us=F / Emotion Management
(i) WORY Yd=U= / Health Management.

(iii) &I BT FOY / Nature of Meditation
'

(i)
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e (gl ufa e & S Qe It e & 3 TuE g

Note : Attempt any five questions. Each question carries equal marks.

U. 1. S yd & oy U9 fIAvament w geprer siferv)

Explain nature and features of Jain Dharam.

312raT/OR

WA YT & Siigd g2 TR T sifer|
Throw light on the life philosophy of Lord Rishabh.

¥. 2. 99 9¥ & E yal &I fGaad |

Throw light on verious Jain Parva.

312raT/OR

S oftef werett @1 quie AR
Explain Jain Tirth Sthal.

U. 3. VeI & He—d M R UBIY SIferu|

Throw light on supportive components of Preksha Meditation.

(i) $.9.3./PT.0.
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3Yar / OR
A B fefte Toet W T faRga Ale ford |
Write a detailed note on Linkart System of leadership.
. T IR PR ATGT FT g P D ATATSHIED ARAT BT
What is line and staff organization? Interpret it critically.
3Yar / OR
RN Ui & TARG Al @l garsd |
Explain the major elements of the Communication process.
. ORI TEvU T 87 URadd & WBRI Pl quie Hiforg|
What is Management of change? Describe the types of change.

@l / OR

T -YewUT T 82 FHI-Teed & oy germa faRau
What is Time-management? Write down the tips for Time-
manhagement.

* 0

(i)
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e (gl ufa e & S Qe It e & 3 TuE g

Note : Attempt any five questions. Each question carries equal marks.

9.

1.

oo 6t aRmmer ST der e &Y ufskar @1 vl B
Define planning and describe the process of planning.
3yar / OR
RIBRT & TS Bl URRAT Bl FHSISY |
Describe the process of Delegation.
faumfieor & e sTURt @1 aul Hifvm
Explain various bases of departmentation.
3yar / OR
e WRe & faflE uredt @ qui i)

Elaborate the various forms of organization structure.

T AT ‘aR’ & NeRR Rigra i 4t R
Discuss the Mc. Gregor's Theory of 'X' and 'Y'.

(i) $.9.3./PT.0.
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frdar : fp=di uig weal & SR g | I vesl & 3w U= 2 |

Note : Attempt any five questions. Each question carries equal marks.

v, 1. ¥ fo1. 7 10 B. @l 10,000 FWaT 3 & forv 10 e it W amaed Smfid & &
1T Tep foemor o= FRiferd fopami 39 3iel @R 3ided W 3 9., 3eed R 5 %. (Nfm afgd) ik
Ay 1 AT R 77 21 T & fAw 2% T SIS UTH g3 20 el | BH ST U
(a1 5000 3ieT) 3RAIPT IR &I T 5000 3fel & T AW Pl 1,000 39 & 1| 99 B
JUTUTA JMac R 7T 37 fr i T des 31 fr ot Jes foram M 300 37l B URD
3Tee WM G HAT AR BT PIAH o § /e 1 150 3ieh & Fquny T77 IR 7 Frae =
T ot g1 |t 450 3fel Pr Sfed aR foram T 300 Sed R W sfeli & AYg H 9/ 150 3ie
20 wfcrerd s R AT o= 3 T s ufasedt aied smawss sHe wfafsear S

Goyal Ltd. issued a prospectus with the object of inviting applications for 10,000 Equity Shares
of Rs. 10 each at a premium of 10% payable Rs. 3 on application, Rs. 5 (including premium) on
allotment and the balance on call. The issue was subscribed to the extent of 212 times.
Application for shares below 20 (5,000 shares in total) were rejected. An application for 5000
shares was given 1000 shares. The remaining shares were alloted pro-rala. The excess amount
to the extent of allotment dues was retained. Share holders holding 300 shares failed to pay the
allotment money and call money. Share holders holding 150 shares failed to pay the call money.
All 450 shares were forfelted. 150 Equity shares out of the lot of 300 shares were reissued at a
premium of 20%. Show the journal entries including cash entries.

@’ / OR

MesRT  SRMT 3fert &1 anerd T —foee Rt gy fobam <11 Aepar 872 I® fafr & dwey &
Pl 37 ol Y, St TfRfeat ot R

Discuss the different methods of redeeming the Redeemable Preference shares. Also give
necessary Journal entries under each method, giving imaginary figures.

¥. 2.3t faffice 7 100 2. arel 20,000 A9 3¢ ey R AT fhd| Foay el ot 3 armg
TUE BT gRT YU R =11 16,000 3ien & foru ureHr-us oTR— T2 S+epT §ed o foar

1 PT.O.



CH

. 4.

T rfYTeT 7 31ue SR 1 g1 R 3iR et sielt & Sifhd Jeu R 5 uftred i R R
HHI BT PIAH IR AT T SHT Uil Dl GRept § Sd wfafseat i)

D. Ltd. made an issue of 20,000 equity shares of Rs. 100 each at par. The whole of the issue was
under written by M/s Sha & Com. 16,000 shares were applied for and allotted to the public. The

under writers discharged their liability and were paid their commission which was at the rate of
5% on the nominal value of share shares. Give Journal Entries in the books of both the parties.

@’ / OR

TeerhRr WIRSIfE Y AT R 7 ST & el 1 FURer 5 TR T ST 87 ve Suged
ISTER GRT AT IR BT I I

How the profits of a Company are determined for the purpose of calculating managerial
remuneration? lllustrate your answer by giving a suitable example.

3raRes AT @2 82 g 9 At | 5 veR e 27 smaRes qafHir aemT srEm
Tt U HET Dl eiRal TRl 7 St wfafsear il

What is Internal Reconstruction? How does it differ from external reconstruction? Give journal

entries in the books of a company adopting internal reconstruction scheme.
3Yar / OR

HHHIT BT TEHIPRUT FAT €2 ThIRUT b RGieh b TH-d § As-14 P T fogatl &P fareem
B |

What is Amalgamation of Companies? Describe main features of As-14 regarding accounting for

Amalgamation.

Th HHT b T T 3T AT FHSId g ? P b I hi it ffern o ot T9smsy|

What do you mean by winding up of a Company? Also explain various modes by which the
winding-up of a company can be brought about.

@’ / OR

31 A 2023 P TP Wit Fut et fies 7 welia $off %. 5,00,000 T 81 . 5,57,000
off, Ufkee FHIO & TSI S I R 9D TR v iRl a1 fJeRur e YR e-

79, Iiep T SR (S IR<1ep 4o a9Iet §9) %. 3,95,000; V&8 3. 5,000; R 2.
2,00,000; Tl TUR SNfBR dletl 6 NI KIUT %.2,50,000 T 1 TR 6 HIE Pl SUIId 5|
FOTA] T 30 RITER 2023 &1 <F T AR A PaH o= I manl I s o dHeRi @
o T AT SARM AT BT PAH BT 11 B, 25,000 F HGR GIRRBR & TAT A SRIFET
| FHO & 3. 2500 & | FRARS Pl Gt i TS A W 3 Ffrerd TuT SRR oHgRI i
faaRa & 8 w2 ufdea TIRsIfe & w9 Ug o &1 IfeR 81 FRe & sifam 9 a1
ICERUIERIES]

2 PT.O.



9.5

A Limited Company which has a paid- up share capital of Rs. 5,00,000 and a loss of Rs. 5,57,000
standing in its Balance Sheet went in to voleontary liquidation on 31°* March 2023. The following
are the particulars of assets and liabilities as on that date-

Machinery, stock and Debtors (which realised their book value) Rs. 3,95,000; Cash Rs. 5,000;
Creditors Rs. 2,00,000; 6% debentures carrying a floating charge of Rs. 2,50,000 and interest
accrued there on for six months.

The Debentures were paid off with interest up to 30th September 2023 on which date the first
and final dividend was also paid to the creditors. Creditors for Rs. 25,000 were preferential and
the rest unsecured. The cost of liquidation amounted to Rs. 2500. The liguidator is entiled to 3%
on the amount realised and 2% on the amount distributed to the unsecured creditors by way of
his own remuneration.

Prepare the liquidator’s final statement of account.

. 31T ey (FERINE ¥ 9d) 2. 4,14,000 81 39 a9 § iR maiRes I iR 4 gforerd 6 )

o & AfEferd 31 37 fafawt o and ged ®. 98,200  Si6f W6 Sifdd 9ed 3. 1,00,000
21%. 6,000 aI¥® & AT & 9T § gH & Fr1eT T8l ¢l IR &b v RieH 35 ufiea
R T3 ST\ 31 TR Y T X 8 e oft ST Hepeht g1 SR § sia faffera geft
(R-=gmurie fafm &1 |ftifed od gu) ©. 22,98,200 21 916 a¥ &1 PR @ a9 2.
4,50,000 2l

ST & T 8T B 3 D IATUR TR T[T BT e oil gV Ia1ed 1o @AM & FwgoT eAr bl
0o 187

The average net profit (before adjustment) is Rs. 4,14,000. This profit includes interest at 4% on
non-trade investments. The cost of these investments is Rs. 98,200. While their face value is Rs.
1,00,000. Expenses amounting to Rs. 6,000 per annum are not likely to be incurred in future. The
provision for income tex may be made at 35%. The normal rate of return may be taken at 8%. The
average capital employed in the business (including non-trade investments) is Rs. 22,98,200.
Taking value of goodwill is three year’s purchases of Super profit, what is the value of goodwill
and value of business? The profit before tax for the current year is Rs. 4,50,000.

@’ / OR

37T < e | 3T AT FHS &2 | 31201 b qeien i fafte fAfert o1 SereRon wfed avM
BT

What do you understand by valuation of Shares? Discuss with the illustrations the different

methods of valuation of Equity Shares..
(224



U, 3. HA H Feuel 6 RURY 1 aui aa Y Feerpi & IRRiBRI/
sfeqar &t =T Hifw| / Explain the powers of Directors along
with discussing position of Directors in a company.

@l / OR

HT b VB FHII DI UEHAT PN FHSA §U P b FHI g
fogeT ¥ R s |
Differentiate winding up and dissolution along with discussing

the process of voluntary winding up of the company.

T. 4. B & A g IJNURD H FIT IR g? HOA b AT B
SARBRT 9 TR @1 ferRay|
What is the difference between member and share holder of
company? Write the rights and duties of a member of company.

JYdr / OR
3IhETT & T I FT 2 3ipa & A @t & SeerE R

What are the major objectives of Auditing? Describe various
classes of Audit.

. 5. oo Iy, 2013 d SooifRgd 3idheies & fshraT @ gef=ud

TG WK TepTeT S1ferq! / Elucidate the provisions of the companies
Act, 2013 in relation with Removal of the Auditor.

@l / OR

HT H S TSl P I Iugdl Pl AHSIRI gU T g g H

IR P W M| / Differentiate Audit & Investigation along
with discussing objectives of Investigation. *0e

(i)
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frder : 9ft yeAt & SR A gt ue & I wHH €

Note: Attempt all questions. Each question carries equal marks.

. 1. oI o aRyivg Hifore e smuRl W et o1 aeffepeor hifsro

Define Company. Classify companies on different bases.

2@l / OR
Tdcics bt IRUTST fRau| ot & FHMe ¥ JwIfUd Jaded &
praf B e Hifl

Write the definition of Promoter. Describe the functions of a
Promoter with regard to in-corporation of company.

U, 2. UNc HHIRE w7 27 une dWiE & Rfte Su are sreran

WUel T quie & STU| / What is Memorandum of Association?
Discuss various clauses of MOA.

@l / OR

SR el o gR9IRT iRl B aiftifem & oot f& w

SR 379 b ThRI B JoaiRad hifv| / Define Preference Shares.
Explain types of preference share provided under companies act.

(i) $.9.3./PT.0.
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: PIE I U g g Gft yeAl & wuE sie 2l

Attempt any five questions. Each question carries equal marks.

P o o1 aref ey Wl ol % Sareker AR S A A TG 8 wReg P T T &
Explain the meaning of agriculture income. Give examples of incomes which are related to
land but are not agricultural income.

3Yar / OR
sft <fg Fr fafig ad 2022-2023 & o Mt o1 xR o7 TR 2-

The following are details of incomes of shri Ravi for the financial year 2022-2023-

Rs.

(1) omRep & Suffa W=y 9~ & w1/

Accrued in America but received in India. 1,04,000
(2) <= ¥ IR | @1 feg O 9Ra F v R mani/

Profits from business in Japan but received in India. 1,10,000
(3) WA I RIT 7™ Tl A W, S R H 8 9 T 5= H <) 1S/

Income from house property in Iran, deposited in a bank there. 1,05,000
(4) S T T eI & @y, St AT &) T d B o e fory )

g IIA™ 9RT W RGBT 81/ Profits of a business established in Germany,

deposited in a bank there. This business is controlled form India. 1,08,000
(5) e & HfY | 3w T8 ot 3 uifehea™ ¥ & foedt qeamery df gF @R & 11/

Income from agriculture in Pakistan. It is all donated to a library in Pakistan. 1,12,000
(6) WRA # P A 3| / Income from agriculture in India. 1,06,000
(7) 2005-06 | =T A1 o= ot faeelt e < 19 oY § 9Ra & M1/

Untaxed foreign income related to the year 2005-06 brought into India

during the previous year. 1,03,000
(8) Teivs & Ft 1 Aaren & forv YRa ¥ wg A= /

Salary received in India for the services rendered in England. 2,14,000
(9) YRa ¥ " Y9 / Pension received in India. 17,000

e faaxur & sft T Ht = FuRe af 2010-11 6 Far 3w 6t TAT HRTT Al 5 <A -

1 P.U3. /P.T.O.



From the above particulars, calculate the total income of Shri Ravi for the assessment year
2010-11 if Shri Ravi is a-

(31) fardt 8, / Resident () 3ramemmur faft & 9o7 / Not ordinarily resident and () 31t
21 / Non-resident

2ft 9™ 1 SHaRt 2000 B TNy el § BN &b ®T § 8000-400-14,000-600-20,000 W

RIET §T 200 ¥R HRME TR &fRe 711; 1,000 ¥9F URMIE Hems Al (JQeRiaR) ; qe
TR W1 500 PR} AfETE e o

S 1 SFEt 2017 B HHAIRAT P BeA P PR & AT T 1,00,000 IR B &gt & S
el 9 ge 9T 6t g g T8 @ 1 et 50,000 39 I af & w9 H geprg| 9 7 & M
3TAPIY P Tt 1,42,200 UH €W TGRSt & 1,56,000 T LI S8 6,000 Tfr1E e UTH B €,
1 SFat 2017 Pt Yo Pl T BT 3/4 TN & 96 4,50,000 WH FTI AT P TOAT |

Mr. Shyam was appointed as an employee in a cloth mill on January 1, 2000 at a salary of Rs.
8000-400-14,000-600-20,000. He was getting city compensatory allawance of Rs. 200 per

month, dearneses allowance of Rs. 1000 per month (as per service conditions) and entertainment
allowance of Rs. 500 per month.

He removed due to retrenchment on January 1, 2017 and paid a compensation of Rs. 1,00,000.
He was not given prior notice of his removal from layoff. Rs. 50,000 paid as notice. Rs. 1,42,000
were received in lieu of 9 months earned leave. Received 1,56,000 graduatees. He gets a
pension of Rs. 6000 per month. It means that on January 1, 2017 he received Rs. 4,50,000 in
lieu of 3/4 pension as lump sum. Calculate salary.

3@l / OR
a9 @1 27 W B A 3§ S 9o ofive A o A B B9

What is Salary? What are the incomes which are taxable under the head Salary?

3T AIEAT | I FH TUMT IR FHT TP Dl ST dTet wetfern dr que At

Describe the deductions allowed while computing other source income.

JrYar / OR
gl B g PR B aIG bl Pl I HIT PRI

Find the gross total income after making good the losses.

(1) 99 F I (PR A) / Income from salary (taxable 30,000

(2) R W 9 T. F @Y / Loss from house A on rent 6,000

(3) Tom Fwfa . ¥ @19 / Sale from house property B 8,000

(4) v it |/ @9 / Profit from Jute Mill 40,000

(5) %% fiyel | &1/ Loss from Cotton mill 68,000

(6) TR BH F & / Loss from partnership firm 4,000
$.93./P.T.O.



(7) 3ie & I | o9 / Profit from Share Speculation 6,000

(8) ®2 & IS W & / Loss from betting on cotton 15,000
(9) arUPEE CTCQ_rﬁ o9 / Short term capital gains 8,000
(10) <rEwrefs 9ot @9 / Long term capital gain 4,000
(11) Srrefi= 9ot @Y / Long term capital loss 17,000
(12) FRPR AR BT & / Interest on Government Securities 12,000

st Femor IRA F /A g1 MG ¥ 2022-23 H IS Wb Pl 3T 8,00,000 I oft, R A
2,00,000 IR ePret= doft @i & TG 99 6,00,000 I AMR T 98 & a9 &1 I=H 8,000
DR R AT 7 o b Do | fafthear € st &5 gt T 5,000 9 HUEE R
FERAT BN § g § A1 SR T 9y § T N wrewet it fafehear w o ek 9 & i
50,000 ¥ = f|

it FeTor ¥ RA H I g H UH FhM fRE W o @1 g, R fRmar 7,000 9 ufy A1 2
FR-fURor a9 2023-24 F forg st Femr N For MT T HR

Shri Laxman resides in Surat. His gross total income during the previous year 2022-23 was Rs.
8,00,000 out of which Rs. 2,00,000 was from long-term capital gains and the balance Rs.
6,00,000 was from profits of business and profession. He paid Rs. 8,000 to the General Insurance
Corporation of India through cheque for medical insurance premium and Rs. 5,000 as donation
to the Prime Minister’s Drought Relief fund. During the previous year he incurred an expenditure
of Rs. 50,000 on the treatment of a dependent relative who is suffuring from Cancer.

ShrilLaxman has a rented house in Surat for which he pays rent of Rs. 7,000 per month. Compute
total income of Shri Laxman for the assessment year 2023-2024.

3Yar / OR
U A IRSAT Wbl Pt NI H A PIF-p=lt Bt W o= Fehell g 2

Which deductions can be availed by an individual assessee from his gross total income?

ST AN O) PR IS AT | AT FIT TS §? T A H AR MUTRA P FAgeayut
YU B T ARAT BT

What do you understand by ‘Pay as you earn scheme? State clearly the important provisions of
Income Tax Act regarding it.

3Yar / OR
PR ARUTTH, 1961 b =i b ST aTel FrRafia ex-fuiRor & 3fYr o geg o F9esmea

Explain in brief the procedure for a regular assessment under the Income Tax Act, 1961.
*



U. 3. oI Hifer o1 aref, I2eT T FHnN §dsd|

Explain the meaning, objectives and limitations of fiscal policy.

4+5+5=14
AYqT/OR
foceft faferimr & eraezresar Ter TRa 6t faceft faferam +ifr 1991
&1 e SRl
Discuss the need for Foreign Investment and India's Foreign
Investment Policy 1991. 7+7=14
U, 4. TRl Tgadfy A H aetar Sl
Review the 11th five year plan in detail. 14
AYqT/OR

TR b AEIG IR Sl T faewan amsd |

Discuss the main characteristics of Social Responsibilities
of Business. 14

¥. 5. = W fewoft forRaw-

Write note on fowwoning- 7+7=14

(31) RIS qgT &Iy / IMF
(§) MME.TA.TH. Pl et / Role of IMF
31Y4aT/ OR
fIeT IR F6 & I AT &I BET Pl guH BT

Discuss the objectives of main functions of World Trade

Organisation. 7+7=14
400

(i)
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e (gl ufa e & S Qe It e & 3 TuE g

Note : Attempt any five questions. Each question carries equal marks.

Y. 1. IEHIRIG ddeRu Bl IRYMNT R 3R ARG aideRy &
LTI P Ug™ Bl foRaR F 9|

Explain Business Environment and explain the importance of study

of Business Environment. 2+12=14
AYqT/OR

AT H 3T FT S £ 2 ARG H 999 SR FAe B yAmieT w

et d@l B IR & FHeIEd|

What do you understand by Saving? Explain in detail the factors
affecting saving and Investment in India. 2+12=14

9. 2. SRISARY I gRATRE BT 9= RIS BT R B D IR

El?ﬂs?il / Define Unemployment. Explain steps to eliminate of
Unemployment. 2+12=14

Y41/ OR
51 ShIfT 1 aRAYT HIvTY 3R o7 FhIfT &b DR BT TR |
FI":I_STIE?}II / Explain Inflation. Explain in ditail the reasons of
Inflation. 10+4=14

(i) $.9.3./PT.0.

3



Rs. 3,58,800, Productive Wages Rs. 3,46,320, Work oncost Rs. 3,
48,400 , Unproductive Labour Rs. 1, 21,680, Materials used in
repairs Rs. 3,120, Cost of completed jobs Rs. 12,80,630.

311/ OR
wed @ w1 7 TTb A IR |

What is integrated accounting? State its advantages.

Tep ITATATT HHI GRT T T & gopil o vy § e a1 Suered

-/ The following information is available in connection with two

trucks operated by a transport company-
Truck No. 1 Truck No. 2

Driver's Salaries 12,500 12,500
Cleaner's Wages 6100 6200
Diesal Qil 4000 4500
Ganage Rent 1500 1500
Taxes, Insurance etc 800 800
Depreciation 40,000 45,000
Supervision Expenses 1500 1500
Repairs 1600 1800
31 R, 2009 P FHH BH a1t 3Tg a8 ¥ < & forg Uiy e
feherier R S BT

The two trucks respectively covered a distance of 4000 and 4500
Kms. for the half year ending 31st December 2009 and carried
every time 200 tonnes of good each. Prepare an operating cost
sheet and found out cost per tonne Km. for each truck.

311/ OR
ST oIl | 31 T 9T 8 2 AT oiieh b $29d Td o1y

E|FI'I3?§H / What is meant by Cost Accounting? Give the objectives
and advantages of Cost Accounting.

400

(iv)
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e fpdl U ueAl & SR e gt ueAt & 3 wHH 2

Note : Attempt any five questions. Each question carries equal marks.

T. 1. 3R< 2024 9 & forg |qrft &t fomedt 7 it miftr oiR frfe &
foaRur feifene 2
The particulars of receipts and issue of an item of stores for month

of August 2024 are as follows-

2023, August

1 Opening Balance 500 Tonnes @ Rs. 10 per Tonne
5 Issue (Reg. No. 323) 300 Tonnes

9 Receipt (G.R. No. 215) 600 Tonnes @ Rs. 11 per Tonne
14  Issue (Reg. No. 423) 250 Tonnes

20 Receipt (G.R. No. 222) 100 Tonnes @ Rs. 12 per Tonne
27 Issue (Reg. No. 524) 400 Tonnes

At 1 e T ST W e fafYr & SR fomar ST
g1 ST IR & SMUR TR TR ooR Tl 18|

Material is issued on the basis of First In First (FIFO) method.
Prepare stores Ledger Account on the basis of above particulars.
31Y4ar/OR

frerferRaa W= <fdm fewforr foRaw-
Write short notes on the following-

(i) $.9.3./PT.0.
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(i) 3Iferpay ¥Tid =R / Maximum Stock Level
(i) <A™ IClh TR / Minimum Stock Level
(iii) ﬁ?ﬂﬁ'@T TR / Re-order Level

(iv) T 3T / Material Turnover

(v) 32T JET / Quantity

T PREH H I 91fies A, B T C €1 92 R v & fov 60 vH19
gue f&r S 81 UfRT gver R 18 3. g1 aR<fad I A gRT 62 €S,
BGRT 40 HUC JUT C GRT 28 HUC 2| FTIAR SHh! Horgt i T0FT
HITT—

(i) TR (i) PRGAR 7orgQ (iif) 19 SRR aiomT g
(iv) gl it aremr

There are 3 employees A, B and C in a factory. Standard time
allowed to do a job is 60 hours. Huorly rate Rs. 18 per hour. Actual
time taken A- 62 hours, B-40 and C-28 hours. Calculate their wages
according to-
(i) Time Rate Wages (ii) Piece Rate System (iii) Rowan Premium
Plan (iv) Halsey Premium Plan.

311/ OR

577 fpReT I 7 3MeRT 82 S S R Y piH-diA It faftRr

%? SIeh A g S| /What s Labour Turnover? What are different
methods to calculate it? Name them.

firex & 7 1 3ler, 2008 @t o Rmmr fafee fmior o= a1 3o
foram ST gea 75,00,000 %, 4TI ¥ & 37 § 31 AE, 2009 P
frforRae faa=or Suerey -

(i)

Mr. Hunny took a contract for the construction of a cinema building
on 1st April, 2008. The contract price was Rs. 75,00,000. The
following details are available at the end of 31 March, 2009-

Rs.
Material 12,00,000
Labour 4,50,000
Plant 6,00,000
Direct Expenses 3,00,000
Establishment Charges 75,000
Materials Returned to Stores 75,000
Wages Outstanding 90,000
Direct Expenses Accrued 1,20,000
Materials issued from Store 1,50,000
Cash received (80% of work certified) 30,00,000
Work uncertified 7,50,000
Materials in hand 30,000
Plant in hand 4,50,000

3T AT 91T TT 9a1ed o fyes o it iRt fogers SRt ?
Prepare the contract account and show the amount that would
appear in the Balance Sheet.

311/ OR
IRIT AT AEiehT § ‘ST Sepls & T IR & 72

What is the meaning of 'Cost Unit' in operating costing.

frfeRed el & ama Ha & wfafsear Hifm-

From the following information make entries in the cost Journal.

purchase Rs. 3,90,000, Carriage Inwards Rs. 5,850, Stores issued

$.9.3./PT.0.
5

(iii)



